Monday

« Write six hundred and eighty five
03 ¢ numeral

2. Round 267 to the nearest 10

3, A
Whaot time s n?{ -

Axb=543058+9=
6x9=545054<6=

. How many corners
has a cone?

v 90+b6=____R__

What s the third month
of the yeor?

« Arrange these numbers in order

of size, storting with the smallest.
07, 09, 05, : '

« What fracuon of the
flowers are red?
L, ES5-€160 =

. Write the next two terms in this
sequence: 2, 4, 8,

(25 x 16) = (25 x 10) « ( x 6)

« By how many centimetres is 3m 48cm
longer than 2m 96cm?

. Jonet spent €34-65 in o shop.
How much change did she get from
€40007

. There were 652 people ot a match.
233 were men, 159 were women,
How many children were ot the
maotch?

There were 7 jars of sweets on
0 shell. Each jor hod 56 sweets
How many sweets were there
oltogether?

Tuesday

. 708 =

L oxTwm

. 60+700+9=__
. What ume is [B955 )7

. Ring the horizontal bine
tI

o/ b

. Acylinderhas ___ ed

e \IIIII.

is shaded?
8 t of
QY 13 the eleventh month,

10, Fill in the carrect sign (<, > or =)
,1,,_08

M. 46+9=_

12, (of 5004 5=

Arrivels
Due from Pars 435 | Due from Bescelona 520
Due from Oriands 18 | Doe from Londos  6:30

13. The plane from Pars is 30 minutes
deloyed At what time will
it arrive?

14. Mary arrived in the airport at
1o meet the flight from
How many minutes will she
hove to won?

u.nnowagn feloyed by
2 hours 15 n At what time
will it arrive?

16, The plane from London left
at How many manutes




1.
2.
3.

“
5.

Wednesday

678c =€
Does this shope tessellate?

Bx4=32+8=
LxB8B=u32+4 =
6+5=« R

htu
569
4+ 346

What s the chonce of pulling the
following coloured beads from the bag?

. Which colour has the greatest chance

of being picked?

. Which colour has the least chance

of being picked?

. Fill in the correct sign {<, > or =)

® ¥

. A garden is 10 squares long ond

12 squares wide. Whot is the oreo
of the gorden?

. A bus left the bus stop ot (315 )

“.

It arrived back ot
How long did the lost?

. There ore 32 biscuits in o box.

Eoch ¢hild on a teom got & ond there
were 2 left over. How many children
are on the teom?

A chair has 4 legs. How many legs
ore there on 32 chairs?

Thursdog

. Arrange these numbers in order
of size, starting with the smallest
342, 456, 145, !

i 0-6=¥ What s the
missing number?

. What & the value of the
underlined digit 3727 -

. 457cm = m cm

.IXBw=
g of3b=
. €125 = 00

- 6142

., 76 x10=

. 3kg 4539
+ 2kg 345q

. i’ of 0 number 15 B
What is the number?

. What date comes after the
30th of April?

48 chidren ployed on electronic devices.

13. How mony children
ployed on g
PloyStation?

14, How mony children

Py brinn

e ]

MWiiee

Wh

played on on
Pod?

15. How mony children ployed
on an Xbox?

16. How mony more played on on Xbox

than on o Nintendo Wii?




A quick look back 7

' - -';ofonumborub‘ What 15 the
whole number?

2. How many times con | take 6 from

Whaot time does this
clock show?
1o

This clock shows
10

i

Write the time shown on
this clock in digitol form

Write the time shown on
this clock in digitol form

13

Write ‘: o3 units ond fractions

5. By how much & 660 greater
than 3407

“l

Pul the comrect sign (=, = or >)
o the | I

$of24( )306f70

6. A lodybird hos 6 spots
How mony spots hove
7 lodybirds?

15.

n

;‘aofosﬂ:S The whaole set =

7. 63-9»

8. Draw 2 bnes of
symmetry on
this shape

9. rd(B@O@ wo€330 € '

17.

;ofthc &4 children in @ schoal have
green eyes. How mony children have

green eyes?

It is now Philip wonts to get
the bus. How long has he to

woit? ___ minutes

10. Which of these boxes of apples can
be pocked in troys of 4 or 8 leoving
no opples left over?

(o)’ m’
m’ m’

A telewesion romme
storted ot

; M.Mt“- !
it finished ot | [

It losted for

. Samir arewed for o porty ot [235)

nstead of How many minutes

w00 ¢arly wos he? minutes

=



Extending place value

’

WY e . i[o - tenths

A A .

1. Show the correct decimaol number on each abocus.

(@ ©i5 i) uw il YN i v it u7is
07 10 i 16 20 37

2. Write the comtt numlm undcr todn obocus.

I : L 3 | 1
(0) t u 'o ‘: t u |° : ( t u ‘o ; t u 30 E(E] ¥ 9 10

g

3. Show the correct decimal number on each abacus,

(@ ¢ o I'O i) ¢ "o ) ¢ af i@ ¢ '.'D :le) ¢ o '.'o
157 194 176 i 186 108
4. Circle the decimal number that hos
(a) 3 unzs 243 232 323 567
(b) K uniks 919 641 Q96 274
() 9ters 929 394 439 295
(d) 5 tenths 322 552 545 538




. Colour the whole numbers blue ond the froctions green.

L”_J | |26 [3&] |14 57| |42 | |as8] [183

. Write the missing numbers on these number lines.

(0) et . e e -
B ENEE R R
(b)A:ll F R S— | RSN A

--------------------------------------------------------------------------------------------------------------
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Decimals all around us

1. What decimol fraction of each strow is coloured? Order the coloured lengths
from shortest 1o longest using the letters,
\ \ S \ i \

Coloured: 04

SRR bAA b

Order:

2. Order the distonces on these odometers starting with the longest.

e e

3. Order the temperatures on these thermometers storting with the lowest.

4, True [2] or folse E] ?
(@) 100 is 5 times bigger thon 10 :__]
(b) A decmal number hos o decimal point ||
(¢} A deceal point separates the fractions from the whole number, D
(d) The decimol point separates the tens from the hundreds D
(e) 3 con clso be colled 01 D () 09 s the some 03 9 D
(q) Zero pont five is the some as five tenths D (h) 38 is the same os 10 D




I Cannon balls

There is a pyramid of cannon balls on a pirate ship. The first
layer looks like this when you look down on it from above.

How many cannon balls are there in the bottom layer?
How many cannon balls will there be in the second layer?
How many cannon balls will there be in the third layer?
How many cannon balls in the top layer?

How many cannon balls do you need to complete the pyramid?

htto://nzmaths.co.nz/oroblem-solving

Il Take two

Play the strategy game “take two".

Place five counters in a row. With a partner take turns, removing
one or two counters each turn. The person to remove the last
counter is the winner.

Can you find a game strategy so that the first player always win?

Is this a fair game? (In a fair game, each player

has an equal chance of winning.)




TIVTTLED

ACLIARES  How Chocolate is Made

0 Yocabulary Work: True or False
Write true or false after each statement (in your copybook).

L Cocoa trees need 3 warm climate to grow,
After six months the cocoa beans are ready 10 be harvested.
Harvesting happens three times a year.
Small Insects carry the cocoa seeds from flower 10 flower
The beans are put on cargo ships to ferment.
The fermented beans are dried in the sun,
Pure cocod is know as winnower
The chocolate maker roasts the beans in big ovens
The nibs are ground to make chocolate liquor.
The crumb is rolled many times by a mixer, _

G Grammar: Conjunctions

A conjunction joins short sentences together to make one longer sentence,
e.g. James got a chocolate cake because it was his birthday. The following are
conjunctions: but, so, because, although, until, or, after, before, and, with, yet,

Write these sentences in your copybook. Underline the conjunction in each,
1. After six months of growing. the cocoa pods are ripe and ready to be harvested.
2. IS rolled many times until it is smooth,
3. The chocolate is left to set before It is put In packages.
4. Charlie visited Mr Wonka's factory because he won the golden ticket.

You can have an Aero bar or you can have a Crunchig,’ she said,

The chocolate is put in the grinder 5o that chocolate liguor Is formed.

I wanted a chocolate bar but my brother wanted crisps.

James had to wait until his birthday for his present.

Mary got 9 out of 10 In her test although she had not studied,

10. The chocolate is poured into moutds and left to set.

Q Extension ldeas
Use the library or internet to answer the following questions:
(a) Write four facts about the history of chocolate, (b) Name four different types of
chocolate, (O Name four different brands of chocolate.

© Wwriting Genre: Explanation Writing - See Portfolio Page 97 (CA3
Write an explanation for: How Honey is Made. Q:‘

O 0 NOoWw




To start, e

List the equipment needed:

-

rlow. write the step-by-step procedure. 1
5

(¢ ~ 2 & & 1= ™
R

Qmm

| wars good at.
| eed 10 o more work on: Date




Bainin so Phairc

Bhi énin og eitiit.  Bhi Mamé agus Fionn sa phairc.  Thit an t-uachtor reokte
Bhi Bainin ag ithe. Rith Momé or nos na gooithe.  Bhi Bdinin so chisedn.

Rith Fionn freisin. ~ Bhi éinin ag sndmh freisin Bh Béinin sa chronn,

Léim Bainin amach. Thosaigh Bdinin ag rith. Chongic Bdinin éinini.
MR
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